@

M@Z I

A

DilKe
o [ORIK)

o

o O°OO /’ \
o o o \

POSITION GASKET TO SEAL PILOT
HOLE ON SIDE 'B' ONLY.

NOTES:

1) ALWAYS GIVE VALVE MODEL AND PART NUMBER WHEN ORDERING PARTS.
2) FOR DIFFERENT VOLTAGES OTHER THAN 120/60, REPLACE SOLENOID COIL WITH COIL LISTED IN

TABLE BELOW.

ALIGN PILOT AND SLOT IN ADAPTOR
WITH GASKET IN BETWEEN SIDE 'A' ONLY
FOR EXTERNAL PILOT OPERATION - ROTATE ADAPTOR
180 DEGREES. REMOVE 1/8" NPTF PLUG AND B
SUPPLY 50-150 PSI TO 1/8" NPTF PILOT PORT IN ADAPTOR.

9] 1 [NSPK2 SUBPLATE MOUNTING KIT NAMUR (2 EA V-566 SCREW, 2 EA V-565 O-RING)
10 8] 2 |van SCREW, #2 X 3/16 DRIVE, TYPE U, OVAL HEAD, STAINLESS STEEL
e u 7] 1 |ANL4 NAMEPLATE, BLANK, FOR VALVES WITH SPRINGS OR DETENTS
e gg'fENOID 6] 1 |vseg O-RING, BUNA-N, 70 DURO, 6MM X MM, NAMUR PLUG
5] 1 |vea PLUG, 360 HALF HARD BRASS, NAMUR VALVE
BNES GASKET - END MOUNT SOLENOID, BUNA-N, 1/4' & 3/8" VALVES <
B[ 1 |veew E SERIES SINTERED BRONZE MUFFLER, DUST EXCLUDER, V-613 LOCK WASHER
L D ] 1 [vsee SYSTEM 8 COIL 120 50/60.NASS # 0561 38.1 00/4984.
S — = j 1| 4 |v5ed SCREW, 10-24 X 1, BUTTON HEAD SOCKET CAP WITH MICROSPHERE APPLIED TO THREADS.
| = £ | o o M
[ — — ! L
8 | 1 |AV-S3SIC_|ASSEMBLY - SPOOL INDICATOR, THREADED, 1/4" & 3/8" VALVE
11 | SPRING - RETURN, (EXCEPT HO, KO & PO) 1/4" & 3/8" VALVES
6 1 [pEc3s END CAP, INDICATOR PIN, WIPER CAVITY, 6061-T6, 1/4" & 3/8" VALVE
5[ 1 |vew KNOB,BLACK (BRASS 1/4-20 INSERT), 05 OPTION 2
; 4 4 v SCREW, 10-24 X 3/4, SOCKET HEAD CAP g
REES GASKET - END CAP, 1/4' & 3/8" VALVE H
INTERNAL END CAP SECTION A-A IS O-RING, VITON, STD BODY, 1/4' & 3/8" VALVES 2
GROOVES THIS SIDE SCALE1:1 1] 1 [B21EW [ NAMUR INTERFACE, WITH 3/2 CONVERSION, 1/4' VALVE =
FG| QY | PARTNO | DESCRIPTION 2
[
s ovomevsions 3B 2 0| ANAZ MR ERODIUCTS |
omHeRWISE SPECIFID Glian a1z | (s ) bnen s |
(8) (A DRAWN: RMcKenna DATE: 3/25/2020 CHECKED: KWaite DATE: 3/25/2020 t>:
12 COIL VOLTAGES SCALE: 1:1 SHEET: 1 OF 1 RELEASED: HWomack DATE: 3/25/2020 g
E PART NO REPACECOL fTme PART N0 s
(Dj T T NS02MOLOS 12VDC V-569-2 1/4" NAMUR, SGL SOL, 2 POS, NSO2MOLOS 3
R NSO2MOLOS 24VDC V5693 SPR RTRN, FLYING LEAD, 120/60, 2
NSO2MOLOS 240/60 V-569-4 LCKNG OVRD, EXCLDR, SPL OVRD g
4 I 2 THE INFORMATION CONTAIQED WITHIN THIS DOCUMENT IS PROPRIETARY TO AfA PRODUCTS AND MAY NOT BE DISCLOSED

L)

WITHOUT PRIOR WRITTEN CONSENT




